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dEE
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Gl | O© — N W o»

, 103,383
825,582
1,302,000

582,017
2,393,784

6,283,
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A1,180,099

FA
o
Qe

MW

1,189,472
517,590
173,286
498,596

861,

395

328,077

18,440

21

280

A2,840

6,080

,080

15,000& » 6%

* 128

5,080

350
3,650
2,000
1,200

450
1,080
1,000
1,000

,080

,000

10,560

,200

A 2,640

170,000& » 4%
50,000& = 4&

* 128
* 128

10,560
8,160
2,400

,200

A2,640

1,800

,000

A 200

1,800
1,800

,000

A 200

5,000

,000

5,000

,000

5,000
5,000
2,000
3,000

,000

Mo

1,096,032
517,590
173,286
405,156

735,

360,917
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401 AIEHIZ 2 I

HH A

1,096,032
517,590
173,286
405,156

735,115

01 A& HI

0 Z M & x4 (65ha)

0 2L BAXE(7ha)

02 2feldl
0 2feltl(52ha)

03 Al2 2 THHI

0 =M XE

UL RN MW MW

HH A A

Mo

1,061,801
246,717

143,927
30,827
71,963

33,974
16,638

4,971
12,365

183,459

39,086
43,305
101,068

597,651
298,826
89,649
209,176
23,504
23,504
14,092
2,808
6,604
10,727
10,727
5,021
1,726
3,980

712,770

17,176

5,169

349,031

6,328

5,558

T8 WEX F2lAY

70,000

70,000

401 AIEHIZ 2 I

70,000

70,000

01 A& HI
0 =% AX Hcl(10ha)

70,000
70,000

70,000

Mo R

483,316
249,402

40,774
193,140

1,997,542

A 1,514,226

fo

Jo
0z
z

Mo R

8,000
5,600

720
1,680

8,215

A215

402 212t A= 01 &

Mo

8,000
5,600

720
1,680

8,215
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M OIXY=E MEEH
el MEIAS KB AIY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

02 QI EASEZ (OIS ) 8,000 8,215 A215

0 DSMA 8,000

= 5,600

< 720

[ia 1,680
DY =HEI & SHMAH X 18,000 18,000 0
402 RIZEX201 ™ 18,000 18,000 0
01 RIZt Xt 2 AL E = (REA &) 18,000 18,000 0

0 D24 =HEI| 2L 18,000
nNZ2a+H HHMAE 2 REZE KNI ALY 40,000 40,000 0
402 RI2FXt20| ™ 40,000 40,000 0
01 212t 2 AL E = (REM ) 40,000 40,000 0

0 D2 =M ZHAE Z QRIZE XNJAHY 40,000
AAES MADIEH = A 41,516 0 41,516

= 20,758

< 6,227

s 14,531
402 BI2HX=201 M 41,516 0 41,516

= 20,758

= 6,227

s 14,531
02 QI EAILEZ (01X E) 41,516 0 41,516

0 AHEHA THHIAIE 24,400

= 12,200

= 3,660

[ia 8,540

0 & & M4a&Edl XA 7,116

= 3,558

< 1,067

i 2,491

0 &gz Ald 10,000

= 5,000

< 1,500

[ia 3,500
AuatEe RSIlgt =4 39,360 193,804 A 154,444

= 19,680

< 5,904

[ia 13,776
402 RI2EXt20l ™ 39,360 193,804 N 154,444

= 19,680

< 5,904

i 13,776
02 22t X2 AL E X (01X THE) 39,360 193,804 A 154,444

0 & 2 AXAE 39,360

= 19,680
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 5,904
s 13,776
MEHES AT =4 22,640 35,360 A12,720
= 11,320
< 3,396
s 7,924
402 2I2H X201 M 22,640 35,360 212,720
= 11,320
< 3,396
s 7,924
02 QIZEHEAISEZ (01X S) 22,640 35,360 A12,720
O M HSMATZL(ANH) 22,640
= 11,320
< 3,396
[ia 7,924
g UME=ES =4 46,200 67,200 A 21,000
= 30,800
< 4,620
i 10,780
402 RIZ2EXt20l ™ 46,200 67,200 A 21,000
= 30,800
< 4,620
e 10,780
02 QI2t X2 AFL 2= (01X THE) 46,200 67,200 221,000
0 & &S =4 46,200
= 30,800
< 4,620
s 10,780
SMolE HSXA 46,000 42,000 4,000
= 20,000
< 7,800
[ia 18,200
402 2I2H X201 M 46,000 42,000 4,000
= 20,000
< 7,800
i 18,200
02 2IZF 2 A EZ (01X TH ) 46,000 42,000 4,000
0 23l 2 B3 (FHE) 42,000
= 18,000
< 7,200
[ 16,800
0 B3 2 ES(FUHYANEE) 4,000
= 2,000
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i 1,400
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X 485,620
< 103,878
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0 2+d & =(2.8km) 613,108
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X 44,620
= 9,563
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02 Zeltl 12,058 12,058 0
0 2T ALY Zeldl 12,058
Xl 8,440
< 1,809
i 1,809
03 Al& S THHI 4,464 4,464 0
0 YAl 4,464
Xl 3,124
< 670
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0 202 25 Fl 20,000
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o FXEXEY 60,2403 »2H 632 7,591
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01 Al&H| 100,000 0 100,000

0 XL = JIsHE =8 100,000
SMHEstHEd =4 92,832 450,000 A 357,168
SMHEs MEgd =24 92,832 450,000 A 357,168
101 2121 H] 37,832 0 37,832
04 JI2ZtHIZ22NEE S 37,832 0 37,832

0 22 E R 2el ol (29) 37,832

o Jle2a 60,2403 x2H x251 30,241

o F=XEXE 60, 240& 23 63 7,591
201 et 25,000 0 25,000
01 AP 22| H| 5,000 0 5,000

0 2MHE A28 F¢ 5,000
02 E2=22%H| 20,000 0 20,000

02222 <2 HA 20,000
206 M = dl 20,000 0 20,000
01 X2 bl 20,000 0 20,000

ONEE S ¥ 27 2 20,000
207 A OH 4| 10,000 0 10,000
02 & A H| 10,000 0 10,000

0 SMHMEX ZHOIXN = 10,000
Atel 5 e 156,713 139,295 17,418

= 29,411

& 8,823

= 118,479
MNElst 2HAR 19,450 16,810 2,640
201 LBt ]| 8,890 8,890 0
01 AP 22| H| 8,890 8,890 0

0 2Bt ZH]| 8,890

o ANREEZFY 2,800

o S 4=0tH & 900

o AREB LM 5,190
202 044l 10,560 7,920 2,640
01 2L I 10,560 7,920 2,640

0 2tLH o4 HI 170,000& * 4% = 128 8,160

0 22 ¢yl 50,000& * 49 x 12& 2,400
MtH2oIRA 29 22 78,441 74,827 3,614
101 21 214| 24,941 21,327 3,614
04 JIZtHIZ22XNSES 24,941 21,327 3,614

0 &3t olZoteA 22(1Y) 18,917
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o MNRES 7¥ 2,000
o FFRE S MeHI(53) 2,500
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0 &3 HZotRA 2322 £ HAM 24,000
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o APAIL OtNM e 2|
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o SOoAHIAAE EHHl 250,0008 » 128 3,000
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01 A& HI 20,000 20,000 0
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= 18,411
< 5,523
s 12,888
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[ia 12,888
04 JI2ZtHZ22HEE = 36,822 47,658 A 10,836
0 MEMENSI LM (2Y) 36,822
= 18,411
< 5,523
e 12,888
=oHEAMN 299 22,000 0 22,000
= 11,000
< 3,300
s 7,700
307 gl2tol & 22,000 0 22,000
= 11,000
< 3,300
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0 DEEEE 1,542,085,000& * 1.5% 23,132
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0 BJRYBERES 46,803,000& = 6.55% 3,066

0 A2 AIA T =HI(106Y) 8,500
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0 MEXSHHY 24 (15Y) 50,000& = 159H 750
302 OI=L Mo 2 &3 32,700 32,700 0
02 RIZIOITHOH R =R ESE NS 32,700 32,700 0

0 MEXE F0H Q2o SAHS 4,200

0 &2 ZA AN A(0Y) 50,0008 * 10Y 500
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